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1 there was a series given
57 58 118 357 1432 ?
207 A B C D E
the question was to first find what will come inplace of ‘?’ then similarly complete the lower series and give answer for E.
2 One question was 5-2+3*1+4 .the question was to find the order of precedence of operators.
Ans + is preferred over -,and – is preferred over *.
3. There was one algo.It was a lenghty one.I cud not even attempt to read it.
4 One question was on set theory.like 100 people drink tea,milk,coffee.25 drink tea only.15 drink coffee only,35 drink milk only.10 drink coffee and tea.5 drink coffee and milk and 10 drink tea and milk.5 drink all three.then we have to find no of people who drink nothing.(numbers are not correct.I have just written arbitrarily to explain the type of question.language was same just figures are not correct)
5-7 3 questions were based on a diagram(i am just telling u type)
like rectangle was drawn and it was said that rectangle represent cultivated area
square represent educated people
circle represents areas with mail facility
triangle represents areas with power supply.
in these overlapping figures at various places numbers were written
then questions like how many educated people live in cultivated area but not having power supply.
Number 4 represents??
whats the total number of people who are educated and have power supply?
like this 3 ques were there and it was the simplest one i shud say.u can try out such questions from R.S.Agarwal chapter name is Logical Venn Diagrams and in the chapter the questions are given at the end under the heading Type2.
8 there was a figure based question.3 were given and we have to find the next one.
9 there was one one lenghty question with number of statements given(abt 9 or 10) then it was asked who is the owner of fish.
10. Another reasoning question was there like there are 3 persons Jack, Smith,Robinson and their occupation are engineer,accountant and engine driver not respectively.now they are travelling in a train and there are 3 ladies on the same train with names Ms Jack,Ms Robinson and Ms Smith.following this 5-6 statements were given and we were asked who is the engineer???
a. Mr smith b Mr Jack c Mr Robinson d none of these e data insufficient.
11 There was one coding question like scotland is coded as 12345678. LOTS is coded as(can’t rem).one more coding was given and then asked whats the code for C.
(a) 6 (b) 0 (c) 4 (d) 5 (e) 9
Ans (a)
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1) For this question take
A-1,B-2,C-3……….X-24,Y-25,Z-26.
Edwin is a judge and a numerologist.He is married to
a woman whose name:
a) has a “product” that is the same as that for
JUDGE:using the correspondence of letters and numbers
above, this product is 10*21*4*7*5.
b)has no letter in common with JUDGE.
c)Has no third letter of the alphabet because 3 is his
unlucky number.
d)Has letters in alphabetical order when the first
letter and second letter are interchanged.
What is the name of the judge’s wife?
2) The owner of the house has been murdered. The
visitors to the mansion were Allen,bixby and Crain.
a) The murderer ,who was one of the three visitors
,arrived at the mansion later than atleast one of the
other two visitors.
b)A detective,who was one of the three
visitors,arrived at the mansion earlier than atleast
one of the other two visitors
c)The detective arrived at the mansion at midnight.
d)Neither Allen nor Bixby arrive at the mansion after
midnight
e)the earlier arriver of Bixby and crain wasnot the
detective
f)the later arriver of allen and crain was not the
murderer
Who was the murderer?
3) some farm tools and farm equipments have been
stolen..3 farm workers were interrogated..Each one
makes 2 statements.(i dont remember the statements)One
of the statements made by each of them is right while
the other is wrong. We have to tell who stole them.
4) There is 4-digit number..the second digit is 2 more
than the first..the last digit is five more than the
third..something like this..it is very simple..jus
have to go from the choices given..
5)
A D
B G E
C F
Each of seven digits from 0,1,2,3…8,9 is :
a) represented by a different letter in the figure
above.
b) positioned in the figure above so that A*B*C, B*G*E
and D*E*F are equal.
Which digit does G represent?
6) Given the names of four persons..and also given
that one is taller than the other but shorter than
someone else..statements like these..we have to find
who is the shortest..
7) A man is walking inside the tunnel AB. when he is
3/8th of the distance from A, he hears a train coming
from behind him..he sees that when he moves towards B,
the train just catches him at B, and similar logic if
he tried to reach A..the man walks at a steady rate of
8m/h..what is the speed of the train?
8)Fifty minutes ago if it was four times as many
minutes past four o clock, how many minutes is it to
six o clock?
9) a simple problem related to ages..
10) There are 5 dacoits who have together stolen some
gold coins..they stay at a place for the night hiding
the bounty safely…When evreyone’s asleep, one of the
dacoits wakes up, takes 1/5th of the bounty plus one
for himself..the rest he puts back in the bag and goes
to sleep..the next dacoit wakes up, does the same
thing,ie takes 1/5th of the remaining bounty plus one
for himself, puts the rest back and goes to sleep..the
third,fourth and fifth dacoits do the same thing..in
the morning, they all wake up and divide the bounty
equally among them..how may coins were there
originally? The key to this question is to proceed
from the options..see which number leaves a remainder
1 when divided by 5 four times continuously and the
fifth time divides it exactly.
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1.Father age was the same as of son now, when son was born. Now father is 38 then what is the age of son 5 years back.
2.For gravelling floor with bed area the cost of gravelling bed area and the remaining are of the floor are 3 rs and 4 rs resectivel. If the length and width of the floor is 13 then what is the length of the bed area.
3.A is father of C. D is daughter of H. Gis the son of A. H is the wife of C. F is the daughter of C. Then how is D is related to G.
4.
28
496
8086
138496
what is the value in the – osition. i. 4 ii. 6 iii. 16 iv. None of these
5. In how amy two factors can you get the value 8064 i. 20 ii. 21 iii. 24 iv. None of these
6. A train is 20% faster than car. They started from A and reaced B at the same time. The thain is with 12.5 min stoppages. What is the speed of the car
i. 50 ii. 55 iii.60 iv. None of these
7. seating arrangements with A to H and some with some conditions.
8. Then
Is IN the 1st triange arrows are given up side and
In the second triangle they are down side. We
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To find for the circle.
9. one question on cylinder but the numbers are in points
10. one table is given with the roduct and revenues. We have to find the % rev more than the revious year.
GD topic:
To advertise Meshine guns should we take Veerappan or army commander
1. A Trinary number(Base 3) is given(i remember
211212). You have to convert it to Decimal.
2. Five figures are drawn and you have to tell the
sixth figure.(Bank PO type question) Ans: choice 1
3. One circle, One triangle and Two rectangles are
drawn in a jumbled way. You have find the
area(or,length of a side) of some intersection.
4. A detailed description is given and on the basis of
which one question was asked. I don’t remember much
but…i think the story goes like this….one neckless
has been stolen by one of the ten Persons(there names
are given…..A says B has Stolen…B say C has Stolen
like that….Only one of them is telling truth…So
who has stolen the neckless.
5. One question was on Pipes and Cisterns.
6. A tent has conical roof and Cylindrical base. You
have to find out the Surface Area. Dimension were
given..Height of conical roof = 4.8 m, Diameter of
Base= 9 m…
7. A $ B means “A is brother of B” , A*B means “A is
father of B” A % B means “A is wife of B”…so on
Which of the following option means that P is Father
in law of U? then 5 optons were given with long
expressions.
8. If 19+48 = 34 , 24 + 48 = 24 …etc………….so
56 + 23 = ?
9. If D means “less than” F means “not greater than” C
means ” Equals To” etc……Then two expressions were
given in this notation and you have to deduce the
resultant expression (obviously in same
notation)..easiest question….attempt it first.
10. A figure was drwan showing the Flight Route of a
Mine Vehicle along with the probability of Accidents
in diffenrent regions of the Route as well as the time
taken by the vehicle to cross that region. You have to
find the region where the Chances of Accident is
least.
11. One more question was there to be solved on the
basis of detailed description given with it. I
remember some series of numbers was given.
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1. what is the day of 31st july 1957 the date is not exact I did not done this but i will give you idea to do this is in R.S Agrawal (489)*4+1 year in that see all the odd days in that
2. logical reasoning very tough question.
3. one qustion is on probabulity ie.., 3 layer, a teacher, 2 doctor , 4 Advocate making a commitee of 4 members what is the probabality to choose a person that he is teacher.
a)1/2
b) 3/4
c) 1/3
d) None Of These
4) A person purchase two items at same price.He sell one at 20% loss, Then how much price he have to sold the second item so for no profit no loss.
a)22%
b)24%
c)28%
d)None of these
5) Find Number?
45,50,60, ? ,66,78, 42,56,70
Ans 54
6) ?
66, 66
28 28 28
10 10 10 10
2 2 2 2 2
Ans 144
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1) if a boy goes at 15kmph and returns back at 20kmph what is his avg. speed easy one just 2×15x20/(20+15).
2) A pyramid Q just adding two down numbers with the top one
3) A very easy Q on clocks what is angle between the hands when time is… ans 160min
4) Reasoning ques which is not seen but tough
5) A ques on probability when a die and coin tossed what is the probability of getting a head and 6 on top.
6) Series ques 2, 4, 6, 5,?, 9, 8, 10, 12 ans 7.
7) Another ques on reasoning like farmers growing crops and govt.’s subsidies for that just we have obtain the INFERENCE of the Para easy one.
8) Reasoning Q similar to PUZZLE TEST OF R.S.AGGARWALS NON VERBAL REASONONG just by drawing table u can find the answer.
9) Pie diagram showing a states growth in different categories and Q related to a particular category.
10) Routine question if 0 replaced by 1 and vice versa then what is sum of two numbers 0101010 =1010101 =85.
11) Question on reasoning related to figures to find the fourth successive figure using first three given ones easy.
12) Problem on multiplication a bit logical
That’s all I remember of written please excuse for other Qs So after waiting for 3hrs results were out 650 cleared. They divided into 65 batches of 10 basing on the alphabetical order of their names. Luckily I had GD on next day so prepared well before day some of my friends had on first day.
Day 2: 10th Feb 07.
For remaining students they conducted GD’S and totally they took 90+45=135.
GD: My topic is “CAPITAL PUNISHMENT”
I MADE THE INITIATIVE AND supported the topic and a strong opposition from another girl but not aggressive went cool Before starting my moderator gave us two minutes to make points but that is not the case in case of other HR so please be prepared. Other topics include
1.solution to terrorism in india.
2.role of youth in reducing corruption.
3.illeteracy and unemployment go hand in hand.
4.education necessary to enter politics.
5.brain drain good for india
6.printing media vs electronic media.
7.is us a friend or foe to india.
8.are women better employees.
9.sports persons are they on an endorsement spree?
10.kbc money making or money gaining?
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